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QUESTION 1
You are implementing the Enterprise Checklist functionality for one of your customers. The customer wants certain
checklist tasks allocated to the employee automatically before their hire date. What should you do to achieve the

required functionality?

A. Associated the area of responsibility with the checklist template to allocate the checklist to persons automatically
when they are given the specific area of responsibility.

B. The worker must be added as a Pending Worker and the enterprise or step checklist need to be tied to the Add a
Pending Worker action.

C. Associate a life event with the checklist template to allocate the checklist to persons automatically when they
experience the event.

D. Managers can automatically allocate checklist templates to the persons whom they manage from the Onboarding
work area.

E. Associate the eligibility profile with the checklist template to allocate the checklist to persons automatically when they
satisfy the criteria built in the eligibility profile.

Correct Answer: C

QUESTION 2

Grade structures (grades, grade rates, and grade ladder) were configured for your customer and the required employee
assignment data was migrated to the system. However, there was a change in requirement and the customer decided to
delete some grades because they were no longer used. When you try to delete one such grade from the system, the
system throws an error. Identify three possible reasons for the system error. (Choose three.)

A. There are assignment records of one or more employees associated with this grade.

B. The grade has grade rates defined.

C. The grade is linked to a grade ladder.

D. A grade cannot be deleted and can only be made inactive by changing the status to "Inactive".

E. A grade cannot be deleted and can only be end-dated.

Correct Answer. ABC

QUESTION 3
What are three advantages of using Position Synchronization?
A. If you use Position Synchronization, Manager Self Service cannot be used.

B. Synchronized attributes will be displayed as read-only in the assignment to ensure the position as the only source of
truth.
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C. For synchronized attributes, any position update will automatically be pushed to the incumbents\\' assignments.
D. The customer can configure which assignment attributes to synchronize from the position.

Correct Answer: BCD

QUESTION 4

You are required to set geography validation for country-specific address style. You have configured the application
correctly, but users are still entering addresses in the wrong address format. What can be done to change this?

A. Create a new geography validation.

B. Set the geography validation level to Error instead of No Validation.
C. Effective End Date for geography validation is end of time.

D. Educate users to use the country-specific address format only.

Correct Answer: B

QUESTION 5

A worker in an organization will be holding a new position because the worker holding the position has gone on
maternity leave. When the second worker is back from maternity leave, the former will be moved back to his or her old
position. His or her payroll and legal reporting will be the same even after the position changes. Which transfer method
should be used for the first movement of the said worker?

A. Global Transfer

B. Transfer

C. Temporary Assignment

D. Global Temporary Assignment

Correct Answer: C
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